(RIF2) kB

SH5FE6HA8HIRE
;fgli% TR % TR EEYEE wanE” EETNRATRICEDEE
f2dt Il T ANGRE=13.1, E#)71E=6.2, E#mRE=9, 54), LON=ZA-hF]
M FRLE=22.4, BDJIFLE=135, FNEJIIFELE=(9, 10.4)
MEAIFEE=104, BANIFE=29,
KFNFEE=13.2, FFJIi1E=8.7,
RINGRE=4.9, 18 )117E=9.3
imrE™ EE5)IFE=266, BAJIFE=114, EE)I5RE=(10, 22.4), —
mEFE=14.9, 8D)IIFEH=12.3, BAIFE=(8, 7.9),
FRiE=6.8, KiT)IIFE=3.1 sEllRE=(8, 9),
B0)IIRE=(11, 8.4)
BA™ LEBA )1 Figi=6.7, W )IFRE=5.9, D) FE=(8, 68.4), KON[HEE]
BANIFE=12, BDJIFE=78 EAR)IFRE=(8, 10.2)
"ol EE)I57E=36.3, BM/I7E=6.4, #0)IIFRE=(5, 71.3), KON=B-HF]
{E)IFRIE=7.5, #3311 FRi5=4.5, HE)IFRE=(7, 33),
2 F)78=9.8, 7URIIFRLEE=13.7, BEE)IIFRE=(5, 15)
HERBIGRE=12.7, FERERNIFE=11.1,
BHEIE=16.7, EB)IIiE=56,
ZHIFRE=9.3
s EE)5715=8.3, #RE)IIFR15=9.2, e )IlFRE=(9, 71.6) KON [=B-F]
&) E=36.3, ZH/IFE=6.9
PSE 375 EE)RE=26.2, EE)IFE=17.7 HE)IRE=(8, 254), —
BEE)IIFE=(8, 14.2)
MOLERADLE |EFINIFE=17.1, JRNFRE=11.7, — RONEE- =48]
mE)I|FE=6.9, EEIIFRE=9,
EFNFRE=11
MNOLERTEE HHIIRE=21.4 — —
FLEILET FBENIGRE=177, TS )IFE=14.2, FHE = (9, 17.7) DN [EIE]
b X RiE=7.1
F=E3108 BERE=98, BEIIRE=52, FHAE)IFE=(8, 4.6) -
FEIR)IFRE=111
#erp AHE™ ‘A FRE=54, & W)IRE=7, AHHB)IGRE=(9, 42.3), MFLBEFBRINKREBIIRE -2E]
B )FRE=3.2, E)lFig=2.2 = LWL 5RE=(10, 4.9)
AT 7)I7E=18.6, ABEFF)IIFE=5.9, REEF)II Fitei=(20, 5) MFLEASNAKRESNUIERA -5
T H I E=8.7, F)IjiE=75, ERE D]
FFIIFRE=10, FIIFRE=5
EEL0] W IIFRE=13.6, [L)15itH=205 - MRLEFHNKRER)I[RE-£E]
I&)IET IE)5R18=20.3 - -
FRNEEHFESE |BENIFE=77, EARIKE=154, — MBTLBFEBRINKREBII[RE-£E]
BE)RE=16, E)IFREH=7.7,
AEA)FE=9.2, Xi&)RE=6.5,
REHH)IIFR=4.8
AHHIIBTEK A IERE=17.3, BII)IFE=18.9, — MFLBEFBRINKREHIIRE -2E]
=)IB)FRE=11.1
EF0) #a)llRig=18.8, FJIIFfE=7.7 - MMLUEBSNAKRZBSNIEA -5
ZRE 8]
EET) a1 FRE=13.9, E&E)IFKiE=9.6 - MMLUEBSNAKRZBSNIEA -5
ZRE 8]
R A RJIFE=13.3 — —
ENFa Ry ENE)IIRE=9.5, Y18 JIlFiE=22.8 ENF) Il 5RE=(9, 9.5), —
18 = (9, 22.7)
FTEET RERIRE=7.8, @iRE=29, LRI =10, 26.1), -
mIGRE=6.5 E)IFiE=8.2, ADJIFRE=(10, 6.8),
N FRE=7.3, RDJIFRE=6.8, SE)RE=(10, 7.2)
_IEI_E]’J”I)ILEE 72
HEJIIET)IA THENRE=8.7, iT)IFRE=16.9 BE)IFE=(8, 54.9) ;l?%liJL%EIEJIUK%EIEJII[Jlllﬁiﬁf-%
ERE- N3]
BE I ETE BERE=(10, 48.4) ;l?jliJLrEh—:thk%ElEJII[Jlllﬁiﬁf-%
EE- D
BE BT 2)115%15=10.6, ¥F)IILE=17.7, B IRE=(8, 51.7) MMLEBSNKRZBSNIEA -5
BEANFE=12.3, NG E=155 EE-IiD]




(BlsR2) kg

SH5FE6HA8HIRE
Bh A AT T T HagE" AR TR LR
Hil-wEE Ul =] FE&E)IFE=16.1, Fak)IHE=9.8, FEIIRE=(12, 14.3), —
BEE)E=198, £22)IF1E=29.9 TBRL)II5RE=(12, 9.6),
ALRERE=(12, 18.7),
EZNRE=(12, 274)
[ERulEEEs B )IE=49, ZE/IFE=112, BE)IRE=(12, 49) -
FHENFRE=23.5, /M JIFR15=20.5,
HIFRE=13.1
B AR ERJIRE=281, BAR)IFRE=124, EHJIIRE=(12, 28.1) -
o)l FiEi=17.9, B&JIFH=208
HiDHKE = B)IIFE=37, ROFH)IIFE=11.1, = B)IIFE=(12, 33.3), —
INIBNFRIE=9.5, BiE)IFE=57.2, RO F)IFREE=(12, 11.1),
BT R15=26.6, &=J1I3i18i=23.4, =)= (12, 23.2)
REEF)IIRE=14.7
AAHAE KIENFE%=285, TH/IFHE=207, REIIRE=(12, 75), EHIPREERE) [XAE]
BEIF1=9.9, =#)IIFiH=176 REB)Rig=(12, 28.5),
BE)RE=(12, 7),
=#IRE=(12, 17.6)
BEHT EHIIFE=46.4, S#)RE=124, EHIIFE=(12, 46), -
FEIFE=108, B&)IlFit=48.9, =12, 9.9),
PhIRIE=19.5, BRIF)IIFRIE=104, HiE)IlifiE=(12, 46.6),
W =41 PIRE=(12, 17.5),
BRI = (12, 10.4),
B E=(12, 3.4)
L= mEr = [)IRE=44.6, [E)IIFE=10.5, — —
EF)IRE=146
L WRiE=11.5, £EA)I5kH=21.8, — =
AL RI)FEi=23, FiE)IFE=134,
KENIFE=13.1, ;LZAD)II5RE=1.5,
STAENRIE=9.4, BEr i) I5RE=4.9
E-REE waEm SHEIFE=19.7, FAJIFE=234, REBF)IIRE=(16, 94.8), EEINTRIBII]
FElIFRE=72.3, RO )IIFIE=107, = IRE=(12, 15.6), REEF)IIiR (A R/ [H -]
AT IR E=9.9 FARNFRE=(12, 22.7),
el = (12, 63.5),
mRIGEE=(12, 9.4)
RS BT HENIFRE=108, /NE/IFE=21.2, FHE)IFRE=(17, 5.8), —
AEJIFE=252, ZA)IltiE=10.4, ABEJIFE=(11, 22.6),
WENFIE=203, REF)IIFiz=8.3 ZaAIlE=(19, 6.4),
MENFRIE=(11, 13.6),
KF)imE=(20, 7.1)
A tth BT S1RF)I7uE=8.1 — =
B3 INIGRE=27.7, F3)115R15=23.3 HE) I RtE=(14, 47.6), MPLEHE)IKREE 483 A%
INIRIE=(12, 26.6) ]
FIATES] JelIGRE=64.7 del)Fitei= (12, 58.2) —
EF N EEBRIIRE=14.1, HHE)IRE=77, HEE)II5RiE=(14, 46.7), IR HEKREE) 488 A%

BEIE=8.2, <CEFJIIFtE=10.5,
R FRE=6.4, BRJIGRE=129

R = (14, 5.9),
R JII5RiE=(20, 12.8)

#)

Y (REREEY AEFEER ORASOEICIIREEERLTVET,




